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Question Number:



Answer one question.

Answers should be between 500 to 800 words in length. 

1 Consider the effectiveness of advertisements today. 

2 ‘Cultural and heritage sites have lost their relevance.’ How far is this true of your society? 

3 Can a country afford to isolate itself from the rest? 

4 ‘Medical science should seek to heal rather than enhance.’ Comment.   

5 How far can we alleviate poverty when discrimination exists? 

6 ‘Dictatorships are more efficient than democracies.’ Discuss. 

7 Should any limits be set on artistic expression? 

8 To what extent are wars and conflicts due to poor leadership? 

9 Should science progress without any influence from religion? 

10 To what extent can Singapore be optimistic about the future given her limitations? 

11 ‘Consumerist lifestyles should be discouraged, not promoted.’ Do you agree? 

12  ‘There is too much emphasis on image today.’ Do you agree? 



Question 1: Consider the effectiveness of advertisements today. 

Descriptors for content mark: 
Mark 
range 

Descriptors 

10 - 
12 

10:   
-  Essay shows no understanding of what “advertisements” are. 
- Essay only talks about the negative impacts of advertising 

11-12:  
 Essay merely describes functions of advertisements with no evaluation of 

effectiveness  
 Essay discusses pros AND cons of advertising rather than the effectiveness of 

advertisements  
 E.g. Negative impacts of false advertising 

13 - 
15 

13-14:  
 Some attempt to evaluate effectiveness of advertisements 
 However, it is not consistently done. Essay may digress to negative 

consequences at parts. 
 Examples are very general, lacking concrete details 
 Examples focus more on describing the advertisement or the thing that is being 

advertised rather than illustrating effectiveness 
 E.g. In trying to prove effectiveness of campaigns - “In Kenya, rhinos are 

sliced for their horns and military groups use helicopters to shoot down 
elephants for their tusks for ivory sales. Singapore has raised 
awareness of such issues by making use of (billboards at) public 
transport such as train carriages and bus stops” 

15:  
 Some attempt to evaluate effectiveness of advertisements 
 However, it is not consistently done. Essay may digress to negative 

consequences. 
 At least one paragraph that concretely illustrates effectiveness of 

advertisements  
 E.g. “The campaign using the hashtag “know your lemons” effectively 

reached out to a large target group and attracted the attention of 
many.” 

16 - 
18 

16:  
 Most of the essay (at least two paragraphs) shows understanding of generic 

term “effectiveness” 
 Sustained quality of examples and reasoning (of effectiveness) in these two 

paragraphs 

17-18:  
 Essay shows consistent understanding of generic term “effectiveness” 
 Sustained quality of examples and reasoning (of effectiveness) in every 

paragraph 
 Relevant characteristics of today’s world are fleshed out and tied to arguments  

 E.g. the use of technology to track consumer patterns to make more 
targeted advertisements (Zalora recommending users brands based on 
the things they were browsing earlier) 

19 - 
20 

 Essay shows consistent understanding of generic term “effectiveness” 
 Sustained quality of examples and reasoning in every paragraph 
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Relevant characteristics of today’s world are fleshed out and tied to arguments
consistently
Examples cover a range of advertisements (by corporations, by governments,
by non-profit organisations, social media influencers etc)
Original insight

Question Analysis (Generic/Ambiguous/Key Terms): 

Topical 
term 

Advertisements A notice or announcement in a public medium promoting a 
product, service, event or even job vacancy. 
Students should consider advertisements across different 
mediums (print, television, the internet, social media) and for 
different functions. 

Generic 
terms 

Effectiveness  Though some of the usual “effectiveness factors” can be applied 
here, eg reach and significance of impact, it is important to also 
talk about how well the methods of advertising deployed today 
meet the tastes and preferences of consumers today, especially 
the tech savvy ones. 

Context 
term 

Today’s world Relevant characteristics of today’s world should be fleshed out 
e.g. increased exposure to different media platforms, globalisation
leading to access to a greater variety of goods, more discerning /
educated consumers who value product reviews and accuracy in
product information.
Because of the context, students should bring in new age forms of
advertising such as social media influencers



Suggested Approaches: 
Possible stand: Advertisements are largely 
effective in today’s world. 

Possible stand: Advertisements are largely 
ineffective in today’s world. 

TS1: With the rise of the internet, advertising is now 
more powerful than ever in being able to reach out to 
consumers through viral marketing. These videos 
often are uploaded on social media platforms and 
spread beyond borders, quickly raising the profile of 
the product. 

TS1: Given the dominance of the internet in 
today’s world and the use of multiple platforms is 
important for a comprehensive reach, 
advertisements disseminated only on traditional 
forms of media platforms are no longer able to 
effectively reach out to consumers. 

TS2: Furthermore, advertisers have adapted with the 
times, no longer merely creating generic 
advertisements for the masses, instead tapping on 
“influencers” to  reach out to different target groups. 

TS2: Furthermore, due to consumers having the 
platform of the internet to share their honest 
reviews with other consumers, people have grown 
more cynical of advertisements that exaggerate 
product benefits or strengths. 

TS3: Additionally, in this age of globalisation where 
consumers have access to a wide variety of goods, 
Overseas advertisers have adjusted their marketing 
techniques to have local media producers make ads 
with a local flavour that appeal to the consumers 
there. 

TS3: Moreover, given the information age that we 
are in, where we are constantly bombarded with 
information and messages from various different 
media platforms, advertisements often only have 
a fleeting impact on consumers. 

Question 2: ‘Cultural and heritage sites have lost their relevance.’ How far is this true of your 
society? 

Descriptors for content mark: 
Mark 
range 

Descriptors 

10 - 12 10:   
 Question is misinterpreted - either 1) cultural and heritage sites - mistakened certain 

places as such 2) relevance - mistakenly addressed   
 Singapore is completely left out   

11-12:  
 “Cultural and heritage sites” - are collapsed into the same thing - with “lost their 

relevance’ both barely addressed accurately; for e.g.“Sites” seen as simply “old places”, 
and so on, and “Relevance” seen simply and myopically as ‘still around’ or so on. 

 Evidence ranging from mostly none, and where there are any, they are factually 
wrong  or not Singapore, to, those that are cliche and yet used ‘narratively’ and not as 
evidence   

13 - 15 13-14:  
Understanding of Terms:  

 Spore “Cultural and heritage sites” - are collapsed into the same thing, and, “lost their 
relevance’ both addressed with mere allusions to them without explanations of what they 
are. 

Evidence:  
 Extremely limited - cliche (one or two) and narratively used  

Issue is dealt with as such: 
 “Ranging from limited to just barely acceptable range of address of key generic and 

topical terms  
 Reasoning is mostly absent or irrelevant  
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15:  
Understanding of Terms:  

 Spore “Cultural and heritage sites” and “lost their relevance’ both addressed with 
acceptable paraphrase and explained simply as such: Sites of cultural importance/ 
important to heritage (without clear understanding of terms convincingly shown) 

 Reasoning is over-simplistic but relevant  
Evidence:  

 Somewhat limited evidence - cliche (two or three) and with them mostly narratively used 
Issue is dealt with as such: 

 Standard is of just about/barely acceptable address of key generic and topical terms 

16 - 18 16:  
Understanding of Terms:  

 Spore “Cultural and heritage sites” and “lost their relevance’ both addressed with 
acceptable paraphrase and explained acceptably as such: Sites important to history and 
sense of who we are  

 Both ‘cultural’ (rituals and beliefs) and ‘heritage’ (shared history) are understood and 
explained accurately  

 Address of past - when these sites have significant cultural and heritage importance  
 Reasoning is acceptable  

Evidence:  
 Acceptable range of evidence that range from hints of apt use to some aptly used  
 Non-cliche evidence used   

Issue is dealt with as such: 
 Acceptable address of key generic and topical terms  

17-18:  
Understanding of Terms:  

 Spore “Cultural and heritage sites” and “lost their relevance’ both addressed with 
acceptable paraphrase and explained acceptably as such: Sites important to history and 
sense of who we are and rather confidently employed 

 Both ‘cultural’ (rituals and beliefs) and ‘heritage’ (shared history) are understood and 
explained accurately  

 Address of past - when these sites have significant cultural and heritage importance  
 Reasoning is rather strong - such as: due to globalisation, capitalist goals… etc.  

Evidence:  
 Acceptable range of evidence that are all aptly used  
 Non-cliche evidence used   

Issue is dealt with as such: 
 Good range of address of key generic and topical terms  

19 - 20 All of the above + 
 Impressive list of evidence used aptly 

21 - 23 All of the above + 
 Attempt to evaluate how far it has lost or has not lost relevance in a simple manner - 

either through arg by numbers etc.  

24 - 25 All of the above + 
 Attempt to sophisticatedly evaluate how far it has lost or has not lost relevance in a 

simple manner - e.g. that whether or not it has lost its relevance depends not so much 
with what sites are kept or demolished, but how Sporeans as a whole utilise and view 
these sites, and how the government has managed to (or not) utilise these sites and 
leverage on them to build new, modernised infrastructures and archiecture.  

Question Analysis (Generic/Ambiguous/Key Terms): 
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Topical 
term 

Cultural and 
heritage sites 

Cultural and heritage sites refer to an official location where pieces of political, 
military, cultural, or social history have been preserved due to their cultural 
heritage value such as the St. Andrews Cathedral Church, Fort Canning, 
Sentosa (Fort Siloso), Changi Museum, the Cenotaph, Botanical Gardens, Sri 
Mariamman temple, Har Par Villa, Sultan Mosque (in Kampong Glam), Malay 
Heritage Centre, Peranakan cultural places and restaurants, Chinatown as a 
whole, Little India as a whole…etc. 

Generic 
terms 

Relevance Of use, applicable, serves a purpose or function 

How far is 
this true 

The extent to which this statement is true and happening in Singapore – 
students should either quantify the extent of relevance (largely relevant 
versus not much relevant) or consider the conditions in which they are/are not 
relevant. 

Context 
term 

Your society Relevant characteristics of Singapore should be fleshed out e.g. highly 
developed, pragmatic… 
Still retains or does not retain its function, with regard to areas such as 
lifestyle, work, stress, economy, political stability, social integration, and so 
on.   

Suggested Approaches: 
Possible stand: Yes, this is true to a large 
extent 

Possible stand: No, this is mostly untrue. 

TS1: Singapore, as LHL has mentioned in recent 
times, aims and needs to move into the future as a 
growing IT and science hub. For that to happen, 
many of the low-lying shop houses in Chinatown 
and Little India might have to go to make way for 
these, particularly due to our limited land space - 
as seen in Bukit brown incident (cultural site?) 

TS1: It might seem as though cultural and heritage 
sites are of not much significance now, what with 
Singapore moving towards becoming an IT and 
science and Technological hub. However, buildings 
and sites such as Sri M temple and Chinatown 
have in fact had a major 'facelift' in recent times. 
Because the Govt recognises the allure of these 
sites, many of the old shophouses have now been 
transformed and renovated into modern, hip 
restaurants and pubs and shops, bringing about a 
new form of vibrancy to this cosmopolitan city that 
thrives and feeds on tourism. Let's not forget the 
millions of dollars used to renovate cultural and 
heritage sites like the Novena church and the 
church near City Hall, as well as Fort Canning, all 
of which have a part to play on tourism and even 
exhibitions. 

TS2: Many of the younger generation of 
Singaporeans are already westernised, 
'koreanised, and japanised', what with the influx of 
media-related influence in our highly globalised 
societiy. Hence, these sites no longer hold the 
same allure and significance for many of them, 
who are rather secularised and modernised. 

TS2: These sites also play the crucial role in social 
integration. They are reminders of our forefathers, 
our heritage and history and the fact that we are all 
migrants at one point, coming together with a 
common goal of succeeding together regardless of 
race, language or religion. 
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TS3: These are crucial monuments of peace and 
calm for the majority of our migrant workers who 
come mostly from china, India and Bangladesh. 
Indeed, Filipinos like congregating in the St 
Andrews cathedral too, another of the cultural and 
heritage sites. Botanic Gardens too offer us a 
reprieve from stressful lives. Because they act as 
monuments that resemble their homeland, and are 
places that have culturally and historically been 
known to facilitate the congregation of their own 
peoples in this foreign land, they serve to bring 
about calm and peace as well as allay 
homesickness for them, which all translates to 
better social cohesion and less social problems 
regarding integration. 

TS4: They also serve as a reminder to the younger 
generations of the hardships and lives sacrificed for 
the land; and as for the elderly, they are a show of 
respect and gratitude to the pains and losses they 
have to endure, to allow for the country to become 
what it is today. 

Question 3: Can a country afford to isolate itself from the rest? 

Descriptors for content mark: 
Mark 
range 

Descriptors 

10 - 12 10:  
- Arguments with no clear idea of what it means to ‘isolate itself from the rest’. 
E.g. Student talks about a country who wants to help another country but does not want to 
cooperate with other countries in doing so. Or student talks about wanting to have bilateral 
relations rather than relations with many countries.  
-  Arguments merely offer advantages of self-isolation, without paying attention to the cost of 
doing so. 

11-12:  
- Student may be providing costs of isolation but lacks any real world examples (only 
hypothetical discussion) OR only pros and cons of being self-sufficient (if cons are evaluated to 
show if it is a cost the country can afford  can pass) 

13 - 15 13-14:  
-  Only with one aspect of isolation is dealt with eg trade. 
-    Superficial reasoning to evaluate the country’s capability to go on its own E.g. They have 
their own resources, so they can go on their own 
OR list a disadvantage without weighing the disadvantage to see if it is something a country can 
afford, then merely say that is why the country cannot afford to isolate itself.  
- One good argument but has weak examples can get a pass. 

15: - Only one good argument evaluating a country’s ability or inability to withdraw from the rest 
of the world ie showing that the costs are bearable or alternatives are available, supported by 
concrete examples   
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16 - 18 16: - All paragraphs may deal with only one aspect of isolation but there is sustained evaluation 
in at least two paragraphs, showing possible impact of such an action, with the appropriate 
characteristics of those nations which can or cannot afford to depart from the general norm of 
global participation, and supported by sustained quality of examples. 
17-18: - Arguments deal with a range of aspects of isolation, eg trade, information, migration, 
etc, but reasoning and examples lack the depth of those in the higher bands. 

19 – 
20 

Arguments deal with a range of aspects of isolation, eg trade, information, migration, etc, 
showing implications of such an action, with the appropriate characteristics of those nations 
which can or cannot afford to depart from the general norm of global participation. Arguments 
are supported by sustained quality of examples. 

Student is able to not just consider the immediate cost but also considers long term 
sustainability 

21 - 23 The script displays a deep understanding of the subject of isolation, showing the implications of 
such an action, with the appropriate characteristics of those nations which can or cannot afford 
to depart from the general norm of global participation. Arguments are supported by sustained 
quality of examples.. 

Student is able to not just consider the immediate cost but also considers long term 
sustainability 

Question Analysis (Generic/Ambiguous/Key Terms): 

Topical 
term 

Country 
Isolate from 
the rest 

A nation with its own government 
To cut off connection from others / remain alone , whether in terms of 
diplomatic relations, or the flow of trade, information or movement of people 

Generic 
terms 

Can afford to to be able to do or spare something, esp without incurring (financial) 
difficulties or without risk of undesirable consequences 
Students cannot merely see this as a “should” question where they examine 
pros (irrelevant to this question) and cons of isolation. 

Context 
term 

None Default global and today’s society 



Suggested Approaches: 
Possible stand: A country can ill-afford to 
isolate itself 

Possible stand: A country can afford to isolate 
itself

TS1: For most countries, it is too much risk to not 
establish good diplomatic nations with other 
countries as it could potentially cost national 
security and peace 

TS1: Countries that have strong military might and 
advanced defence technology could afford to not 
form close diplomatic ties with others since it is 
unlikely that other countries would want to risk 
attacking them. 

TS2: For countries that are highly reliant on 
openness to information and trade, not participating 
in or withdrawing from global trade with the 
intention to boost its local industries is likely to 
reduce economic competitiveness leading to cost 
inefficiencies and economic hardship. 

TS2: A country that has immense resources can 
rely on its own availability of such resources and 
be able to regulate its imports without fear of the 
country suffering from deprivation or insufficiency. 

TS3: Similarly, restricting access to the Internet and 
information from the international media is suicidal 
as the country can ill-afford to stunt the intellectual 
development of its people, limit opportunities for 
cross-cultural exchange and stymie businesses 
which rely on time-sensitive information, all of which 
will have severe consequences on the economic 
and social progress of the country. 

TS3:  Stunted intellectual development as a result 
of isolation, arising from restrictions to information 
provided by the international media, can have 
serious consequences on development in political 
thought, scientific and technological 
advancements, and economic and social progress, 
but such a cost may be something the government 
is willing to bear, as the possibility of dissent is 
reduced and the people’s dependence on, and 
perceived loyalty to, the government may be 
enhanced instead.   

TS4: Likewise, restricting the liberal movement of 
people into and out of the country, especially for 
education or employment, is likely to limit 
opportunities for cross-cultural learning and 
business development and cause a shortage of 
manpower, leading to a less vibrant economy and a 
less culturally-diverse society, which may have 
severe implications for the country’s development. 

TS4: The liberal movement of people in and out of 
the country may bring immense benefits to 
economic growth and the reputation of the country, 
but giving it up may be a cost that a government is 
willing to bear, considering that the context now is 
that such a curtailment brings more benefits – in 
terms of improved security (eg reduced threat of 
terrorism) and increased job opportunities to the 
local people. 

Question 4:    ‘Medical science should seek to heal rather than enhance.’ Comment.  

Descriptors for content mark: 
Mark 
range 

Descriptors 

10 - 12 10:   
 Student approaches question as a pros and cons of medical science (no awareness of 

generic terms “heal” or “enhance”) 
 Student misinterprets and shows NO understanding of generic terms “heal” AND 

“enhance” 
 E.g. Student sees “enhancement” as “prevention of diseases” without clearly 

explaining what is being “enhanced” to achieve this better ability to prevent 
diseases 

 Student talks about other types of S&T that are not medical 
 E.g. “Medical science enhanced food stock” (GM food)             

11-12:  
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 Student describes instances of medical science healing/enhancing without evaluation 
the pros and cons (“should”) 

 Student digresses to limitations of medical science  
 E.g. “Medical science is too costly and hence people cannot afford to be healed”

 Student only talks about healing/enhancement 

13 - 15 13-14:   
 Shows a general understanding of key terms in the question (both “healing” and 

“enhancement” must be addressed at some point in the essay) 
 May digress in some paragraphs 
 Very generic/thin examples  

 E.g. Vitamins, steroids, medication referred to in general terms, no real world 
reference 

15:  
 Shows a general understanding of key terms in the question (at least one paragraph 

clearly addresses both generic terms) 
 May digress in some paragraphs 
 At least one paragraph that concretely illustrates pros/cons of healing/enhancing 
 Sees “enhancement” as purely “making our bodies stronger/enhancing our immunity 

system” throughout the essay making the contention limited to “prevention is better 
than cure”  

16 - 18 16:  
 At least two paragraphs understanding of generic term “should...heal/enhance” 
 Sustained quality of examples and reasoning in every paragraph 
 Range of arguments: student also considers “enhancement” as cosmetic/unnecessary 

improvements to an otherwise healthy individual 

17-18:  
 Essay shows consistent understanding of generic term “should...heal/enhance” 
 Sustained quality of examples and reasoning in every paragraph 
 Essay attempts a weighing/comparison of the two functions in reasoning (rather than 

evaluating them in isolation) 
 E.g. “medical science should be meant for helping those in need, and 

enhancement should be of less priority”  
 Range of arguments - students can see beyond the pragmatic costs and benefits of 

healing/enhancing and considers also the moral/ethical issues 
 E.g. Moral obligation to use limited funds on ending suffering rather than 

developing performance-enhancing drugs” 

19 - 20  Essay shows consistent understanding of generic term “should...heal/enhance” 
 Sustained quality of examples and reasoning in every paragraph 
 Essay attempts a weighing/comparison of the two functions in reasoning (rather than 

evaluating them in isolation)  
 Range of arguments - students can see beyond the pragmatic costs and benefits of 

healing/enhancing and considers also the moral/ethical issues 
 Essay shows understanding of the false choice and shows that were possible (i.e. 

resources are not limited), both aims can actually be met 
 Original insight - Showing that the two are interlinked/don’t have to be separate 

Question Analysis (Generic/Ambiguous/Key Terms): 
Topical 
term 

Medical science The branch of science concerned with the study of the diagnosis, 
treatment, and prevention of disease. 
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Generic 
terms 

Should seek to 
heal rather than 
enhance 

Pros and cons of focusing on healing (recovering from / treatment of 
illnesses, injuries, diseases, terminal conditions) rather than enhancing 
(cosmetic changes to the body not for health reasons) and vice versa. 
Students can also choose to argue that it should seek to do both. 
This is technically not a comparative question, though the comparative 
approach can be adopted to deepen the analysis. 

Context 
term 

Default global and 
current 

Suggested Approaches: 
Possible stand: Medical science should seek 
to heal rather than enhance. 

Possible stand: Medical science should seek to 
both heal and enhance. 

TS1: Medical science should seek to heal rather 
than enhance since afflictions that require healing 
are often more pressing. In contrast, a healthy 
person’s desire to improve their physical features 
is not a necessary procedure. 

TS1:  Certain enhancement procedures serve the 
important function of raising self-esteem of 
individuals. 

TS2: The enhancement of the human body 
sometimes brings with it certain moral 
quandaries, so it can be argued that medical 
science should focus on providing solutions to 
current medical problems instead. 

TS2:    Furthermore, if patients are willing to pay 
money for medical enhancements, it should not be 
turned away since ultimately this can generate 
money for the industry to continue to improve and 
fuel innovations. 

TS3:  When resources are limited, medical 
science should seek to prioritise healing rather 
than enhancement since saving a human life is 
more important that merely making it better. 

TS3:   Given the rate of advancement of medical 
science, it can and should seek to do both. To limit it 
to only achieving one aim would be limiting the 
potential of medical science. 



Question 5: How far can we alleviate poverty when discrimination exists? 

Descriptors for content mark: 
Mark 
range 

Descriptors 

10 - 12 10:   
 Arguments discuss the alleviation of poverty without any mention of discrimination. 

Other solutions may be discussed instead. 
 Arguments may also discuss discrimination without a convincing link to poverty. 
 There are no examples provided, merely generalisations. 

11-12:  
 Arguments discuss the alleviation of poverty and make passing mention of 

discrimination either as an obstacle or as a factor that is unrelated to poverty. 
 The alleviation of poverty is merely asserted. 
 The causal relationship between discrimination and poverty is merely asserted. 
 There are no examples provided, merely generalisations. 

13 - 15 13-14: 
 Arguments should consist of either: 

 Poverty cannot be alleviated due to the presence of discrimination. 
 Poverty can be alleviated despite the presence of discrimination. 

 The relationship (or lack of) between discrimination and poverty is clearly/convincingly 
explained. 

 Successful/failed alleviation of poverty may be asserted. 

15: 
 Additionally, at least one argument attempted contains evidence of poverty and 

discrimination. 
 Successful/failed alleviation of poverty is clearly/convincingly explained. 

16 - 18 16:  
 All paragraphs contain evidence of poverty and discrimination. 
 One paragraph contains evidence of P and D, but there are examples of 

alleviation/failure. 
 Successful/failed alleviation of poverty is clearly/convincingly explained. 

17-18:  
 All paragraphs contain evidence of poverty and discrimination. 
 Successful/failed alleviation of poverty is support with evidence in at least one 

argument. 

19 - 20  Every argument is fully relevant and may consider how poverty may be alleviated 
despite the presence of discrimination, or how it cannot be alleviated due to the 
presence of discrimination. 

 Examples are present in all paragraphs. 

Question 6:  ‘Dictatorships are more efficient than democracies.’ Discuss. 

Descriptors for content mark: 

10  Script demonstrates gross misunderstanding of key terms ‘dictatorships’* and ‘democracies’ 
 Script demonstrates gross misunderstanding of key term ‘efficient’ eg efficient in promoting 

human rights without showing how human rights are a function to be protected by the govt. 
 Script does not even attempt comparison between dictatorships and democracies. 
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*https://www.britannica.com/topic/dictatorship
Dictatorship, form of government in which one person or a small group possesses absolute 
power without effective constitutional limitations. The term dictatorship comes from the Latin 
title dictator, which in the Roman Republic designated a temporary magistrate who was 
granted extraordinary powers in order to deal with state crises.  

11-12  Script does demonstrate some understanding of key terms ‘dictatorships’ and ‘democracies’ 
 Script does demonstrate some understanding of key term ‘efficient’ (even if understanding 

is not 100% accurate). 
 Script does attempt a comparison between dictatorships and democracies. 
 Script has zero concrete examples 

13-14 → SPECIAL RULE: 1 pass-quality para (relevant reasoning + concrete example) 
guarantees 13 marks.   

 Script does demonstrate some understanding of key terms ‘dictatorships’ and ‘democracies’ 
 Script does demonstrate some understanding of key term ‘efficient’ (even if understanding 

is not 100% accurate or if it is limited to speed / how quick, in various situations). 
 Script does attempt a comparison between dictatorships and democracies. 
 Script has some (at least 1) concrete examples 

15-16 → SPECIAL RULE: 1 good quality para (relevant and valid reasoning + good quality 
concrete example) guarantees 15 marks; 2 of such paragraphs guarantee 16 marks.  

 Script shows a consideration of some of the advantages (in terms of efficiency) of 
dictatorships OR some of the weaknesses (in terms of efficiency) of democracies. 

 Script does demonstrate some understanding of key terms ‘dictatorships’ and ‘democracies’ 
 Script does demonstrate some understanding of key term ‘efficient’ (even if understanding is 

not 100% accurate). 
 Script has some good quality concrete examples 

17-18  Script shows a consideration of some of the advantages (in terms of efficiency) of 
dictatorships OR some of the weaknesses (in terms of efficiency) of democracies. 

 Script does demonstrate some understanding of key terms ‘dictatorships’ and ‘democracies’ 
 Script does demonstrate some understanding of key term ‘efficient’ (even if understanding is 

not 100% accurate). 
 Script makes a fair and sensible (i.e. not biased, myopic, or uninformed) comparison 

between dictatorships and democracies. 
 Script consistently makes a comparison between dictatorships and democracies. 
 Script consistently (at least 3 paragraphs) has good quality concrete examples 

19-20  Script shows a consideration of some of the advantages (in terms of efficiency) of 
dictatorships OR some of the weaknesses (in terms of efficiency) of democracies. 

 Script does demonstrate some understanding of key terms ‘dictatorships’ and ‘democracies’ 
 Script does demonstrate some understanding of key term ‘efficient’ (even if understanding is 

not 100% accurate). 
 Script makes a fair and sensible (i.e. not biased, myopic, or uninformed) comparison 

between dictatorships and democracies. 
 Script consistently (at least 3 paragraphs) has good quality concrete examples  

→ Scripts have a good range of points (i.e. not just talking about 1 type of efficiency). 

21 and 
above 

→ Script raises good insights (e.g. “The type of efficiency that dictatorship promotes is 
not as important as the type of efficiency that democracy promotes.”). 

Question Analysis (Generic/Ambiguous/Key Terms): 
Topical 
term 

Dictatorship 
Democracy 

A dictatorship is one in which the leader has absolute rule / total power over a 
nation or state, and usually obtained his position of power by force. 
A democracy is one in which the people rule, and the leader is often more 
concerned with meeting the people’s wants and feeding their citizens’ needs. 
The leader often gets elected into office through voting. 

monstrate some understanding of key term efficie
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Generic 
terms 

More 
efficient than 

Comparison required. Efficiency with regards to speed of processes, 
maximum productivity, minimum wasted effort or expense. 
Note that measuring efficiency is quite specific and students should not 
digress into which is “better”. 
[For a democracy, students need to be aware of the range of democracies 
and what political processes can be voted over in which nations, as the rules 
of each type of democracy can differ from country to country. Dictatorships 
are more straightforward (but examples should be varied). ] 

Context 
term 

General Since the context is not specified, students can bring in both past and present 
examples to prove the comparison between the two systems of governance. 

Suggested Approaches: 
Possible stand: Dictatorships are more 
efficient. 

Possible stand: Dictatorships are not always 
more efficient. Democracies can be more 
efficient, and some forms more so than others. 

TS1: Decisions to expand a nation’s assets and 
land are often more speedily made in a 
dictatorship, as the ruler has a good vision over 
what he wishes to achieve with his conquests. 
Once plans are made, the strike can occur at the 
leader’s command. Democracies can cause a 
simple decision to become a long-drawn process 
due to the process of voting and seeking public 
opinion on issues; dictators can make a more 
specific call in such times. 

TS1: Democratic rulers are able to know their 
people’s wants and desires more clearly than 
dictators, and be able to establish policies that meet 
these desires in a more targeted manner. Hence 
while it may take longer for decisions to be made 
and policies to be rolled out, in the long run, it 
minimises unnecessary time and effort spent making 
changes.  

TS2: Political objectives are often clearer when 
the leader has his way to pave the way forward 
for the nation. This is opposed to a democracy 
where voice is given to not only the people but 
opposing parties within the government, causing a 
lack of focus in direction at times. 

TS2: There are forms of democracies that actually 
do not require the consultation of the people for most 
of the decisions made, and thus are as efficient as 
dictatorships. 

TS3:  In dictatorships, decisions/policies can be 
rolled out without unnecessary expenditure of 
time and resources to garner feedback and 
approval. 

Question 7: Should there be any limits placed on artistic expression? 

Descriptors for content mark: 
Mark 
range 

Descriptors 

10 - 12 10:  
- Students merely state the various functions of art eg escape from reality 

11-12 
 Arguments with no clear idea of what ‘artistic expression’ means (talks about pop 

culture/media rather than art or freedom of speech (amos yee)). 
 Arguments show some understanding of key terms but lacks any concrete examples 

e any limits placed on artistic expression?

rk::



13 - 15 13-14: -   One good argument (either moral or pragmatic) but has weak examples can get a 
pass. 

 Throughout essay arguments do not address the possible harm eg threat social 
cohesion / moral values that artistic expression can cause to society and do not raise 
the need for setting any limits on such expression.  

-       Where examples are provided, they are merely described and not evaluated. 
15: - But there is only one good argument that is convincing and examples are well-evaluated. 

16 - 18 In order to get 16 and above, student should not have contradictions in stand (i.e. “there should 
not be any limits”, next paragraph “there should be limits in this case”) 

16: - Arguments deal with a narrow range of points (at least two relevant arguments) but there 
is sustained evaluation, supported by quality examples. 
17-18: - Arguments show consistent (at least 3 paras) relevance and are supported by 
examples, but lack the depth of those in the higher bands. 

19 – 20 The script displays a deep understanding of the subject of artistic expression, and portrays 
clearly the polarising tension that unlimited expression can bring to bear on society. Arguments 
are supported by sustained quality of examples. 

Question Analysis (Generic/Ambiguous/Key Terms): 

Topical 
term 

Artistic expression Declarations of one's ideas and feelings through the medium of art, 
whether music, dance, drawing, writing, theatre etc 

Generic 
terms 

Should 
Any limit 

Moral and pragmatic arguments (for and against setting limits on 
artistic expression) 
A point beyond which people should not cross / censorship / 
regulations 
Absolute proposition 

Context 
terms 

Default global and 
current 

Suggested Approaches: 

Possible stand: There should be limits set on 
artistic expression. 

Possible stand:  There should be no limits set on 
artistic expression. 

TS1: The protection of an individual's rights ends 
when these rights impinge on the safety and 
rights of others. To create an exception for art 
would be hypocritical and justifying content such 
as hate speech as a form of art is providing a 
loophole for its existence. 

TS1:  Stifling free expression, particularly the creative 
abilities of human beings, is a violation of the 
individual’s right as a human being. Civil rights should 
not be restricted so long as no illegal acts are 
committed in the creative rocess. 

TS2: Many forms of modern art seek to push the 
boundaries on topics like sex, race, religion or 
politics, beyond what is acceptable, and such 
content may not be suitable for everyone, eg 
children have to be protected, and it should be 
up to the society to decide on the level of 
tolerance for itself and impose limits, where 
necessary. 

TS2: The public should have a choice in deciding 
whether to view or access the content without the 
need for limits to be imposed. Everyone should 
exercise his personal discretion, eg parents should 
refrain from taking their children to view art that they 
deem offensive. 

artistic expression.
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TS3: Art is often a platform for political commentary 
and for limits to be imposed by the government, it 
would defeat this purpose of art and potentially hinder 
any chance for change. 

Question 8:  To what extent are wars and conflicts due to poor leadership? 

Descriptors for content mark: 
Mark 
range 

Descriptors 

10 - 12 10:  -   
 Question is misinterpreted: e.g. no mention of poor leadership, or no mention of other 

factors, or no mention of cause of effect from these three elements.    

11-12:  
 “Poor leadership” barely addressed acceptably [student tried to address but did a 

very poor job] 
 “Wars” and “conflicts” barely addressed acceptably 

Evidence:  
 Extremely limited - one relevant one - (e.g., Singapore only, or only mention of a cliche 

case, such as those of Hitler or merely historical contexts and no recent ones) [The 
cliched Hitler example cannot be accepted even if well-explained?] 

Issue is dealt with as such:  
 Simply stating “Wars” or “conflicts” are caused by “Poor leadership”, without necessarily 

proving it [no attempt even to show how war/conflict brought/not brought about 
about by poor leadership]  

13 - 15 13-14:  
Understanding of Terms:  

 “Poor leadership” addressed by merely alluding to it 
 “Wars” or “Conflicts” collapsed into 1 topic instead of being dealt with separately; 

meaning, only one is addressed [Are we then expecting students to (i) deal with 
both tensions and armed conflict and (i) deal with both international and domestic 
war?”] [Possible to shift this requirement for scope/range of points to the 19-20 
band?]  

Evidence:  
 Extremely limited - one relevant one - (e.g., Singapore only, or only mention of a cliche 

case, such as those of Hitler or merely historical contexts and no recent ones)  
Issue is dealt with as such:  

 “Poor leadership” has led to wars; Other factors have led to wars/conflicts too - this is 
proven through examples (example driven) without being able to name exactly what the 
other factor other than poor leadership is, that has led to wars.  

15:  
Understanding of Terms:  

 “Poor leadership” addressed by some attempt to paraphrase and explain it (such as, 
“short-sighted, rash...etc.”); but minimal  

 “Wars” or “Conflicts” both are being dealt with [Possible to shift this requirement for 
scope/range of points to the 19-20 band?] 

  
Evidence:  

 Somewhat limited - two - and cliche as well (e.g., Singapore only, or only mention of 
cliche cases, such as those of Hitler or merely historical contexts and no recent ones); 
they are mostly ‘narrative’  [Are we able to shift this requirement for original (non-
cliche) examples to a higher band?]  

Issue is dealt with as such:  
 “Poor leadership” such as (such and such...) have led to conflict and wars; Other factors 

have led to wars too - this is proven through examples (example driven) without being 

other than poor leadership is,,, that has led to o war
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able to name exactly what the other factor other than poor leadership is, that has led to 
wars. [Can we shift this requirement to bring in other factors (to evaluate extent) to 
the 16-18 band?]  [To get 15 student does not need to mention other factors than 
leadership.]  

16 - 18 16:  
Understanding of Terms:  

 “Poor leadership” addressed by acceptable attempts to paraphrase and explain it (such 
as, “short-sighted, rash...etc.”) 

 “Wars” or “Conflicts” both are being dealt with 
Evidence:  

 Acceptable range of evidence that range from simply ‘narrative’ with hints of apt use, to 
some aptly used  

Issue is dealt with as such:  
 “Poor leadership” such as (such and such...) have led to conflict and wars; Other factors 

(such as geographical location, having aggresive neighbours, history of violence and 
tensions, land and capital ...etc.) have led to wars too, with some evidence that range 
from simply ‘narrative’ with hints of apt use, to some aptly used [To get 16 student 
must mention specifically other factors than leadership.]  

17-18:  
Understanding of Terms:  

 “Poor leadership” addressed by acceptable attempts to paraphrase and explain it (such 
as, “short-sighted, rash...etc.”) 

 “Wars” or “Conflicts” both are being dealt with 
Evidence:  

 Acceptable range of evidence that are all aptly used  
Issue is dealt with as such:  

 “Poor leadership” such as (such and such...) have led to conflict and wars; Other factors 
(such as geographical location, having aggresive neighbours, history of violence and 
tensions, land and capital ...etc.) have led to wars too, with a range of evidence all aptly 
used  

19 - 20  All the above +  
 Impressive list of evidence all aptly used  

21 - 23  All the above +  
 Attempt to evaluate how far [e.g. within this case/scenario, the degree to which poor 

leadership caused war and conflict] and how true [e.g. across cases, how many 
wars and conflicts are caused by poor leadership?] it is that wars and conflicts are 
caused by poor leadership or by other factors as mentioned; not sophisticated but 
acceptable; e.g., by number of cases...etc.  

24 - 25  All the above +  
 Attempt to evaluate how far and how true it is that wars and conflicts are caused by poor 

leadership or by other factors as mentioned; sophisticatedly done; e.g. wars and 
conflicts are caused by a combination of both poor leadership and other factors, as 
history as shown… or… that largely it is due to poor leadership, as history has shown 
how good leadership can help avert these imminent (brought about by other factors) 
wars and conflicts, many a times, as well as, how poor leadership has led to many of 
them.  

Question 9:  Should science progress without any influence from religion? 

Descriptors for content mark: 
Mark 
range 

Descriptors 
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10 - 12 10: 
 Question is misinterpreted: e.g. DOES NOT show understanding that ‘religion’ here 

implies the whole host of moral implications it professes to teach and uphold (e.g. Belief 
that one must not ‘play God’, ‘manipulate nature as it is intended to be’, must not ‘hurt or 
kill people, even the unborn or those with the potential to be alive’, and that one must 
follow these rules and precepts, regardless of the benefits progress). 

 No relevant evidence 

11-12: 
Understanding of Terms: 

 “Science progress”, “Religion” and “Influence” are addressed by merely alluding to them 
– there is no clear attempts to explain the CONNECTION between religion and science,
but allude to them as almost like separate entities.  

 “Should” barely addressed; merely stated as claims without reasoning. 
Evidence: 

 Range from none to extremely limited evidence of “should/should not influence” - limited 
to merely cliché ones that are somewhat outdated and used as mostly as ‘narrative’.   

Issue is dealt with as such: 
Basically, attempts at proving (through reasoning and evidence) that science is being hampered 
by religion, or religion being useful for science progress, are mostly made as (ranging from) 
none to basic sweeping claims (such as R will hinder S, R is important as it teaches 
morals…etc.)  

13 - 15 Understanding of Terms: 
 “Science progress”, “Religion” and “Influence” are addressed by merely alluding to them 

– there is no clear attempts to explain the CONNECTION between religion and science,
but allude to them as almost like separate entities.   

 “Should” barely addressed and unconvincingly proven with weak reasoning; such as 
“should because it is right; it is beneficial” or “should not because it is against it; 
obstructs it” WITHOUT any or much elaboration on how it is ‘right’, ‘beneficial’, or how it 
‘obstructs’ it.   

Evidence: 
 Extremely limited evidence of “should/should not influence” - limited to merely cliché 

ones that are somewhat outdated and used as mostly as ‘narrative’.   

Issue is dealt with as such: 
Basically, attempts at proving (through reasoning and evidence) that science is being hampered 
by religion, or religion being useful for science progress, are mostly made as (ranging from) 
basic sweeping claims (such as R will hinder S, R is important as it teaches morals…etc.) to 
general, unsubstantiated claims to claims that are poorly substantiated by evidence 

16 - 18 16:   
Understanding of Terms: 

 “Science progress”, “Religion” and “Influence” acceptably paraphrased and explained as 
(types of science progress: cloning, stem cell research, IVF, abortion, animals testing, 
cryogenics, sex change, transhumanism…etc.; types of religion: Islam, Christianity, 
Hinduism, Buddhism, and their ideals: Belief that one must not ‘play God’, ‘manipulate 
nature as it is intended to be’, must not ‘hurt or kill people, even the unborn or those with 
the potential to be alive’, and that one must follow these rules and precepts, regardless 
of the benefits progress). 

 Clear attempt to consistently show the connection between religion and science and 
whether it helps promote a safer and more humane form of scientific progress or 
whether it hinders it much. 

Evidence: 
· Evidence moves away from cliché to more recent and significant cases, and

instead of being narrative, now is used sometimes aptly to show the religion 
promotes or hinders science progress.   

Issue is dealt with as such: 
 “Religion” is shown in acceptable manner how it either hinders or promotes science 

progress. Evidence sometimes aptly used.   
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17-18: 
All the above + 
Evidence is all aptly used to substantiate stand. 

19 - 20 All the above + Impressive list of evidence used 
Reasons are more sophisticated – Sci needs Rel in order to 1) curb the rampant capitalistic and 
financial exploitation of research materials for profit rather than humanity due to R’s persistence 
in fighting for the rights of individuals and society and keep science progress for the sake of 
humanity instead of profit-making MNCs; or, Rel should not be allowed to influence Rel because 
1) its own precepts are questionable and outdated, 2) its hindering science progress has led to
lives ‘lost’, led to ‘lands uncharted’, slowing down progress which might be extremely 
detrimental given our environmental predicament or health-related issues of pain, death, etc, 3) 
Rel is not needed for a society to be deemed as moral (as logic and open discussion is the way 
to go) 

21 - 23 All the above + 
Attempts to address ‘any’ (the extent portion) of question by explaining, rather unoriginally, that 
because of the overwhelming number of cases…etc.   

24 - 25 All the above + 
Attempts at a sophisticated address of ‘any’ (the extent portion) of question, by explaining, 
rather originally, that both need each other, in all areas of research, because doing away with 
religion is in fact going against the idea of freedom of ideas and speech and discussion, and 
might end up hampering more progress for science, as ultimately science is a tool that is used 
to serve humanity, and not be a ruler of all. Science, in many cases, requires the portion in Rel 
that grounds universal morals strongly in society, and ought to have such positive influence and 
backing indeed, but at the same time, be allowed to do away, or at least question, other Rel 
moral implications (such as right to abort, IVF, stem cell research …etc. as history has shown, 
since Galileo, that in time, Rel can be more open, and somehow, ironically, even be made more 
progressive, by Science, to become a positive influence of Science as well.   

 “should be present or not” or “should we have religion or not” 

Question 10:   To what extent can Singapore be optimistic about the future given her limitations? 

Descriptors for content mark: 
Mark 
range 

Descriptors 

10 - 12 10: - Arguments with no clear idea of what it means to ‘be optimistic about her future’ + no clear 
unpacking of the condition 

11-12:  
 No projection to the future, merely describes Singapore currently (our strengths and 
weaknesses) 

 No mention of Singapore’s limitations (or a mere repeat “Singapore’s limitations” without 
explaining or mentioning what it is) 

theee ffffutututuu uree,,, mememememerererererely dddddesesesesse crcccc ibibbibes SSSSininnninnnnnnnnngggagaggagagagggagaggggggggg popoooopopopooooorererererer cccccururururuurrerererererentntntntntntlly

ooof f f fff SiSSiSSiSingggggapapapapaporro e’eeee sssss lililiimimmmmm tatataattiononooo s (o(o(o(o(or a merererereere rrrrrepepepepeppeaeaeaeaeae ttttt “S“S“S“SSing
or memmeentntntntntioioioioioonininininingnngng wwwhahahhattt t itititittt is)s)s)s)s)) 



13 - 15 13-14:  
- One good argument with evaluation of Singapore characteristics to warrant a sense of 
optimism can get a pass. 
-       Every paragraph deals with ‘pessimistic’ without a single paragraph dealing with various 
degrees of optimism but clearly discusses Singapore characteristics. (cap at 13. Reasoning: 
you can have little optimism yet not be pessimistic)  
-       Superficial treatment of Singapore characteristics (whether strengths or weaknesses) and 
little evaluation of characteristics of Singaporeans eg resilience, and of actions (eg policies to 
overcome weaknesses)   
-       Every paragraph deals with international events that Singapore is unable to tackle, 
without providing characteristics of Singapore (in terms of vulnerabilities and actions being 
taken to overcome the vulnerabilities) - essentially the same argument repeated over and over 
again with different examples 
-    Superficial discussion of characteristics of the possible future landscape that warrants 
concern (what does ‘optimistic’ or ‘having a bright future’ mean?) i.e. student projects to the 
future but rather generally without surfacing a specific aspect of the future to be optimistic 
about. 

15: 
-    One very good argument (well illustrated), with evaluation of Singapore’s vulnerabilities or 
strengths, to meet the challenges ahead. 

16 - 18 16: -    All paragraphs deal with only one aspect of Singapore’s future eg economic aspect but 
there is sustained (at least two paragraphs) discussion of Singapore characteristics and 
sustained quality of examples 
17-18: - Arguments deal with a range of aspects concerning Singapore’s future, eg social and 
economic, and are able to consider the various government policies / characteristics of its 
people to deal with both domestic as well as global challenges leading to Singapore’s ability to 
weather the uncertainties ahead. 

19 – 
20 

The script displays a deep understanding of the various domestic, regional and global 
limitations and challenges confronted by Singapore and is able to evaluate the extent of 
success of a range of solutions to weather the challenges presented. 

21 - 23 Beyond surfacing the range of challenges faced by Singapore, the script consistently displays 
evaluation of extent eg degree of optimism, eg short-term vs long-term, reach of effect, root 
cause, etc, within each paragraph (i.e. internal evaluation of extent of optimism) 

Question Analysis (Generic/Ambiguous/Key Terms): 

Topical 
term 

Optimistic 
about the 
future 

Confident about the future, assessed in terms of the nation’s ability to 
mitigate external and internal threats 

Generic 
terms 

To what 
extent 

Students should qualify the degree to which this statement is true in their 
overall stand by either quantifying the optimism (very optimistic, not that 
optimistic) or providing conditions or areas in which we can be optimistic, 
and other areas in which we may not be able to be so optimistic. 

can Ability to achieve something 

Context 
term 

Your society Relevant characteristics of Singapore context should be considered 

Studududududeneeee tss shohohohohouuuluu ddddd ququuuualalalalala ififififify yyyy the dededeegrgrgrgrgrgrgrgrrgrgrgrrgrrrrrgrg eeeeeeeeeeeeeee tttttto o o o o o ooooo o whwhwhwhwhwwww icicicicichhhhhh ththththththis 
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Condition Given her 
limitations 

The condition has to be acknowledged throughout the essay. 
The condition is not up for debate. 
Students should consider relevant limitations that might affect Singapore’s 
ability to be optimistic e.g. small land size, ageing population etc. 

Suggested Approaches: 
Possible stand: Singapore can hardly be 
optimistic about the future 

Possible stand: Singapore can largely be 
optimistic about the future 

TS1: Given Singapore’s geographical location 
and limitations such as lack of resources and 
smallness of its population causing it to be highly 
dependent on the actions of major economies, no 
matter what Singapore does, it is unable to tackle 
external threats of geopolitics and economic and 
political uncertainties on a global level. 

TS1:  Recognising its geographical limitations, the 
government has successfully established diplomatic 
relations with many countries and leveraged on its 
location in South East Asia to form a strong regional 
grouping, ASEAN, to negotiate its relations with the 
world on a collective basis. So far, this has led to 
regional stability and more opportunities for 
employment, business, trade and travel. 

TS2: On the domestic front, given Singapore’s 
persistent low birth rates despite many years of 
government incentives, a rapidly ageing 
population and a reluctance to embrace a liberal 
foreign talent inflow, productivity and domestic 
growth rates will always be capped by such 
limitations. 

TS2: While low birth rates may be a persistent 
problem, Singapore has tweaked its immigration 
policies to place priority on jobs for Singaporeans, 
while at the same time, leveraging on technology to 
overcome manpower issues, resulting in reasons for 
optimism. 

TS3: Within the country, the multi-religious and 
multi-racial composition of its population presents 
challenges in the form of prejudice and 
discrimination which are inherently hard to 
overcome, a crisis along the lines of a racial riot 
which had happened before, such as a terrorist 
attack, can fracture the society along racial lines. 

TS3: Given the multi-religious and multi-racial 
composition of its population which may be a 
potential cause for divisiveness, the government has 
managed race relations well through policies 
encouraging social cohesion and laws on censorship 
that lay down out-of-bounds markers to prevent 
actions that can spread ill-will, so there is no reason 
to worry. 

Question 11:   ‘Consumerist lifestyles should be discouraged, not promoted.’ Do you agree? 

Descriptors for content mark: 

10  Script demonstrates gross misunderstanding of key terms ‘consumerist lifestyle’. 
 Script does not address the ‘should’ in the question, and merely describes how things currently 

are, rather than how they ought to be. 

11-
12 

 Script does demonstrate some understanding of key terms ‘consumerist lifestyle’. 
 Script does address the ‘should’ in the question.   

→ Script talks about either (i) the pros of consumerism or (ii) the cons of consumerism. 
 Script has zero concrete examples 

→ NOTE: Credit scripts that attempt to weigh pros against cons. 

13-
14 

→ SPECIAL RULE: 1 pass-quality para (relevant reasoning + concrete example) guarantees 
13 marks. 

 Script does demonstrate some understanding of key terms ‘consumerist lifestyle’. 
 Script does address the ‘should’ in the question.   
 Script talks about either (i) the pros of consumerism or (ii) the cons of consumerism. 
 Script has some (at least 1) concrete examples 

→ NOTE: Credit scripts that attempt to weigh pros against cons. 

d ess e s ou d e quest o , a d e e y des
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15-
16 

→ SPECIAL RULE: 1 good quality para (relevant and valid reasoning + good quality concrete 
example) guarantees 15 marks; 2 of such paragraphs guarantee 16 marks.  

 Script does demonstrate some understanding of key terms ‘consumerist lifestyle’. 
 Script does address the ‘should’ in the question.   
 Script talks about both (i) the pros of consumerism and (ii) the cons of consumerism. 
 Script has some good quality concrete examples 

→ NOTE: Credit scripts that attempt to weigh pros against cons. 

17-
18 

→ Script shows a consideration of some of the major advantages and drawbacks of 
consumerism (i.e. student must demonstrate a more-than-superficial knowledge of this 
topic).   

 Script does demonstrate some understanding of key terms ‘consumerist lifestyle’. 
 Script does address the ‘should’ in the question.   
 Script talks about both (i) the pros of consumerism and (ii) the cons of consumerism. 
 Script has a good number of good quality concrete examples 

→ NOTE: Credit scripts that attempt to weigh pros against cons. 

19-
20 

 Script shows a consideration of some of the major advantages and drawbacks of consumerism 
(i.e. student must demonstrate a more-than-superficial knowledge of this topic).   

 Script does demonstrate some understanding of key terms ‘consumerist lifestyle’. 
 Script does address the ‘should’ in the question.   
 Script talks about both (i) the pros of consumerism and (ii) the cons of consumerism. 
 Script has a good number of good quality concrete examples 
 Script convincingly weighs pros against cons. 

→ Scripts have a good range of points. 
→ Script raises good insights. 

Question Analysis (Generic/Ambiguous/Key Terms): 

Topical 
term 

Consumerist 
lifestyles 

A lifestyle characterised by buying and buying, always seeking the most 
fashionable, the latest product or the better-than-before. The assumption 
that people will discard the old for the newer items as well. 

Generic 
terms 

Should be + 
discouraged vs 
promoted 

Consider benefits vs problems OR pro and cons of such a lifestyle or the 
pragmatic considerations of whether to encourage such a lifestyle 
and 
Consider the moral / ethical standpoint of whether such a wasteful, 
materialistic lifestyle has only negative impacts to the environment, to the 
self, to future generations. 

Context 
term 

General Though the context is not specified, relevant characteristics of today’s 
world should be fleshed out e.g. media / advertising promoting 
consumption habits like buying the latest product, globalisation leading to 
access to a greater variety of goods, goods of other nations, or leading to 
constant product improvements as well. 

g
coccc nsnsnsnsnssumumumummptioioooonnnnn haaaaabibibbibitststststs likkkkeeee buuuuuyiyy ng the latest t t t prprprprprprodoooo u
acacaccacaccccecc sss tooooo a aa a a ggrggg eaeaaeaateteteteter r rr r vaaaarrrir etyyy ofofofofoofffffff gggggggggggggggggggoooooooooooodsdsdsdsdsdsddddddd , gogogogogooododododododssssss oooof
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Suggested Approaches: 

Possible stand: Consumerist lifestyles should 
be discouraged, not promoted 

Possible stand: Consumerist lifestyles should be 
promoted, not discouraged 

TS1: Knowing that buying more means more 
waste as the older and outdated products likely 
get thrown away, people should be advised to 
turn away from such a materialistic pursuit of the 
latest things as global waste is a growing 
problem. 

TS1: The only way to push innovation and creation 
of better products is to constantly target the desires 
of consumers and meet their wants. With this in 
mind, it is only right to encourage purchases and 
luxurious pursuits. 

TS2: In addition, natural resources get used up 
ever more quickly as such wasteful lifestyles are 
adopted and the use of these resources are often 
for rather intangible or inconsequential purposes 
like making one look trendy and fashionable. 

TS2: After a nation has reached a level of 
development, the next step to make life better for the 
people is to encourage a higher standard of living. A 
consumerist lifestyle is a natural rite of passage for 
such nations who have a growing purchasing power. 

TS3: In this age of globalisation where consumers 
have access to a wide variety of goods, promoting 
the consumerist lifestyle only serves to raise our 
carbon footprint as we produce more and 
transport them over long distances to overseas 
markets. 

TS3: Moreover, given the information age that we 
are in, where it is easy to learn of the cultures and 
the fashion styles of other nations, promoting 
products and services to other nations is a way of 
growing a particular brand’s market share and earn 
greater profits. 

TS4: From an ethical standpoint, we cannot 
continue to encourage such irresponsible 
lifestyles without regard for the environment and 
future generations. 

Question 12:  ‘There is too much emphasis on image today.’ Do you agree? 

Descriptors for content mark: 
Mark 
range 

Descriptors 

10 - 12 10: 
 Incorrect understanding of the term ‘image’ - photos, pictures, posters etc. 
 No clear understanding of the notion of having too much emphasis. 

11-12:  
 Somewhat limited understanding of the term ‘image’ mainly as physical appearance 

and looks. 
 AND Anecdotal description of how being concerned with image has negative 

impacts/can be beneficial. 
 AND Presentation of negative impacts fails to capture the severity required to prove 

‘too much emphasis’. 

13 - 15 13-14: 
TO PASS, STUDENT MUST SHOW EXTENT+NEGATIVE 

 Understanding of image may still be limited to the individual level (physical 
appearance and looks). 

 There is at least an argument that addresses image in a relevant manner. 
 Explanation of argument captures the severity of ‘too much’ or that there is not ‘too 

much’. 
 Evidence might still be anecdotal/general. 
 There might be concrete evidence that fails to support the yardstick. 

at limited understanding of the term image  mainly
. 
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15:  
 There is at least one relevant argument that successfully proves ‘too much’ or not ‘too 

much’. 
 Concrete evidence is present for this argument too. 

16 - 18 16:  
 There are relevant arguments (at least two) but there is a lack of consistency in 

explaining the yardstick or providing concrete evidence. 

17-18:  
 Arguments may be limited to individual but should go beyond just physical appearance 
 There are at least three relevant arguments with yardstick clearly 

explained/addressed, concrete examples are present. 

19 - 20  All arguments contain concrete evidence and clear explanation of the yardstick. 
 Arguments cover a good range of ‘image’, going beyond just the individual level.



 GENERAL PAPER          8807/02 
 Paper 2 
 INSERT 

 READ THESE INSTRUCTIONS FIRST 

     This Insert contains the passage for Paper 2. 
 Write your name and CG in the spaces at the top of this page. 
 Submit the insert together with your answer booklet at the end of the examination. 

This document consists of 3 printed pages and 1 blank page. 
[Turn over] 

Candidate Name: Civics Group: GP Tutor: 

    28 August 2017 
1 hour 30 minutes 

SERANGOON JUNIOR COLLEGE 
JC2 Preliminary Examination 2017



2

Joel Stein considers the best and the worst traits of Millennials. 

1

2

3

4

5

6

7

8

It is tempting to think of the millennials as lazy, entitled, selfish and shallow. Certainly, there have been
complaints about the high incidence of narcissistic behaviour among them. Millennials received so many 
participation trophies growing up that a recent study showed that 40% believe they should be promoted
every two years, regardless of performance. They are so convinced of their own greatness that they are
disappointed when the world refuses to affirm how “great” they know they are. 

Millennials consist of people born between 1980 and 2000. To put it more simply for them, the group is 
made up mostly of teens and 20-somethings. Each country's millennials are different, but because of
globalisation, social media, the exporting of Western culture and the speed of change, millennials
worldwide are more similar to one another than to older generations within their nations. Even in China,
a generation as overconfident and self-involved as the Western one has been created. 

The idea of the teenager started in the 1920s, where most of their social interactions were with adults in
their family or in the workplace. Now that smartphones allow millennials to socialise at every hour – an 
average of 88 texts are sent a day – they are living under the constant influence of their friends. Never
before in history have people been able to grow up and reach the early twenties so dominated by peers.
To develop intellectually, an individual has to relate to older people and older things. It is no wonder that 
millennials are stunted. 

In spite of their perceived immaturity, this is the most threatening and exciting generation not because
they are trying to take over the Establishment, but because they are growing up without one. This is why
millennials do not need us. While the Industrial Revolution has made baby boomers powerful – they 
could move to a city, start a business, and form organisations, the Information Revolution has further
empowered millennials by handing them the technology to compete against huge organisations: hackers
versus corporations, bloggers versus newspapers, YouTubers versus studios. 

Millennials are interacting all day but almost entirely through a screen. They can be seen sitting next to 
one another and texting. They might look calm, but they are deeply anxious about missing out on
something better. Seventy percent of them check their phones every hour, and many experience
phantom pocket-vibration syndrome. That constant search for a hit of dopamine (when someone likes
their status update or approves of their selfies from the dressing room) reduces creativity. Both a lack of
face-to-face time and higher degrees of narcissism have similarly reduced empathy. Millennials are 
apathetic: they have less civic engagement and lower political participation than any previous group. Not
only do they lack the kind of empathy that allows them to feel concerned for others, but they also have
trouble even intellectually understanding others' points of view. 

What they do understand is how to turn themselves into brands, with "friend" and "follower" tallies that
serve as sales figures. As with most sales, positivity and confidence work best. According to W. Keith
Campbell, a psychology professor at the University of Georgia, “People are inflating themselves like
balloons on Facebook. If you do this well enough on Instagram, YouTube and Twitter, you can become
a microcelebrity.” It is no wonder millennials are so fame-obsessed. 

While it may be easy to write them off, this generation’s greatness should not be undermined by their
shortcomings, but determined by how they react to the challenges that befall them. The millennials are 
passionate, inquisitive and challenging, and want to leave their mark on the world. On top of this, many 
of them are aware that they will be entering a changed world, one where their ideas, skills and talent will
be valued from the start. 

They are technologically adept, first of all. The millennials are technologically precocious, growing up 
with a rattle in one hand and a computer mouse in the other. They may have the least seniority but claim
the most authority when it comes to technical support. They welcome change. Millennials are by nature
well-suited for the unpredictable workplace of the future. They do not know enough to be prudent, and
therefore attempt the impossible. They have less baggage – they get married later, and have children 
even later in life – and can therefore afford to take risks. 
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9 They think differently, unencumbered by years of education and experience which were once necessary 
to succeed, but are now increasingly seen as irrelevant, even a liability. Young companies, born on the
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right side of the digital divide, are running circles around their older, richer, slower rivals. For a company
to think outside the box, why not learn by working with people who do not know there is a box? 

50

10 They are independent. One of the most pervasive business trends of the past decade has been the rise
of the free agent, caused both by the breakdown of the social contract between companies and
employees, and by the growing share in the workforce of knowledge workers with portable skills. The
millennials came of age as that social contract was dissolving. They have never expected loyalty from a
company, nor have they expected to give it. They define themselves by their skills, not the firm they work 
for. The overwhelming majority of graduates see their career at graduation not as a straight line of
advancement in one company but as a zigzag path from company to company, job to job, skill to skill. 
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11 They are entrepreneurial. With a booming economy, capital for the taking and an unprecedented 
technological opportunity, it is no surprise that more have been striking out on their own. This is not just
the bravado of callow youth: by the time they enter university, most teenagers already know far more
about the business world than their parents ever did. The signs of this business precociousness are
everywhere. Universities used to tell students to go out and get experience in the workplace, learning at
someone’s expense, before thinking about starting their own firms. Now they run on-campus Incubators 
for the shrinking number of students that have postponed entrepreneurship long enough to go to college 
at all. The oracle of trend-spotting, Vanity Fair, has had to coin a new word to capture the phenomenon:
“Enfantrepreneurs”. 

12 We are in the middle of a changing of the guard. The millennials are moving from the shadows to the
spotlight in the workplace, thanks to a convergence of forces that play to their strength – from technology 
to the pace of change to the tearing down of the traditional corporate order. Indeed, they are our future.
They are pragmatic idealists, tinkerers more than dreamers, life hackers. They are everything that is
good as well as bad about the world. They are our own children, yet they are also the little-understood 
enemy. They are super-predators and they are lost lambs. They are the problem – and the solution. 
They will, for better or worse, inherit the earth. 

Adapted from “Millennials: The Me Me Me Generation” and “Bright Young Things” 
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2

Read the passage in the insert and then answer all the questions which follow below. Note that up 
to fifteen marks will be given for the quality and accuracy of your use of English throughout this 
Paper.

NOTE: When a question asks for an answer IN YOUR OWN WORDS AS FAR AS POSSIBLE and 
you select the appropriate material from the passage for your answer, you must still use 
your own words to express it. Little credit can be given to answers which only copy words 
or phrases from the passage. 

1. Suggest why “participation trophies” (line 3) have helped to create a sense of entitlement in
millennials.

.................................................................................................................................................... 

…………………………………………………………………………………………………………[1] 

2. Why has the author written “great” in inverted commas (line 5)?

……………………………………………………………………………………………………………

…………………………………………………………………………………………………………[1]

3. Explain the author’s use of the word “even” in line 9.

……………………………………………………………………………………………………………

……………………………………………………………………………………………………………

…………………………………………………………………………………………………….……...

…………………………………………………………………………………………………………[2]

4. According to paragraph 3, why are the millennials “stunted” (line 16) in their growth? Use your
own words as far as possible.

……………………………………………………………………………………………………………

……………………………………………………………………………………………………………

……………………………………………………………………………………………………………

………………………………………………………………………………………………………… [2]

5. What does the phrase “perceived immaturity” (line 17) suggest about the millennials?

……………………………………………………………………………………………………………

………………………………………………………………………………………………………… [1]
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6. Using your own words as far as possible, what are the distinctions between the millennials
and the “baby boomers” mentioned in lines 19 to 22?

……………………………………………………………………………………………………………

……………………………………………………………………………………………………………

…………………………………………………………………………………………………….……...

………………………………………………………………………………………………………...[2]

7. Explain the irony in the first line of paragraph 5.

……………………………………………………………………………………………………………

…………………………………………………………………………………………………………[1]

8. Explain how the author justifies the use of the word “apathetic” (line 29) to describe the millennials.
Use your own words as far as possible.

……………………………………………………………………………………………………………

……………………………………………………………………………………………………………

………………………………………………………………………………………………...…….……

……………………………………………………………………………………………..………….[2]

9. What do you understand by “people are inflating themselves like balloons on Facebook”
(lines 34-35)?

……………………………………………………………………………………………………………

……………………………………………………………………………………………………………

…………………………………………………………………………………………………………[1]

10. Explain what the author means by “a generation’s greatness should not be undermined by their
shortcomings” (lines 37-38).

……………………………………………………………………………………………………………

……………………………………………………………………………………………………………

…………………………………………………………………………………………………….…...…

…………………………………………………………………………………………………………[2]
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11. Using material from paragraphs 8 to 11, summarise what the writer has to say about the
millennials’ traits and how they would be advantaged in their careers.

Write your summary in no more than 120 words, not counting the opening words which are
printed below. Use your own words as far as possible.

One characteristic of the millennials is ……...…..………………………………………………………

..........................................................................................................................................................

..........................................................................................................................................................

..........................................................................................................................................................

..........................................................................................................................................................

..........................................................................................................................................................

..........................................................................................................................................................

..........................................................................................................................................................

..........................................................................................................................................................

..........................................................................................................................................................

..........................................................................................................................................................

..........................................................................................................................................................

..........................................................................................................................................................

..........................................................................................................................................................

..........................................................................................................................................................

..........................................................................................................................................................

………………………………………………………………………………………………….…………… 

……………………………………………………………………………………………………………… 

………………………………………………………………………………………………………….…… 

…………………………………………………………………………………………………………….… 

……………………………………………………………………………………………………………[8] 

      Number of words: ___________ 
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12. Explain what the author means by “they will, for better or worse, inherit the earth” (line 74).

……………………………………………………………………………………………………………

……………………………………………………………………………………………………………

……………………………………………………………………………………………………………

………………………………………………………………………………………………………......[2] 
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13. Joel Stein makes observations about the millennial’s best and worst traits. How far would you
agree with his observations, relating your arguments to your own experience and that of your
society?

……………………………………………………………………………………………………………...

……………………………………………………………………………………………………………...

……………………………………………………………………………………………………………...

……………………………………………………………………………………………………………...

……………………………………………………………………………………………………………...

……………………………………………………………………………………………………………...

……………………………………………………………………………………………………………...

……………………………………………………………………………………………………………...

……………………………………………………………………………………………………………...

……………………………………………………………………………………………………………...

……………………………………………………………………………………………………………...

……………………………………………………………………………………………………………...

……………………………………………………………………………………………………………...

……………………………………………………………………………………………………………...

……………………………………………………………………………………………………………...

……………………………………………………………………………………………………………...
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2017 JC2 GP Prelims Paper 2 
Suggested Answers 

1. Suggest why “participation trophies” (line 3) have helped to create a sense of entitlement in millennials. [1]
From the passage Suggested answer 

Millennials received so many participation 
trophies growing up that a recent study showed 
that 40% believe they should be promoted every 
two years, regardless of performance. (Lines 2 – 
4) 

Such trophies reward the millennials for simply being 
around without needing to do anything or prove 
anything. 

*Accept any reasonable answer that shows lack of or no
effort in getting any reward.  
*Accept any reasonable answer that mentions outcome of
performance  
* No need to show extent
* accept “merely” or “just” participate as BOD

2. Why has the author written “great” in inverted commas (line 5)? [1]
From the passage Suggested answer 

They are so convinced of their own greatness 
that they are disappointed when the world 
refuses to affirm how “great” they know they are. 
(Lines 4-5) 

The author is implying that the millennials alone falsely 
assume they are highly capable. [1] 
OR 
The author is being sarcastic as he feels the millennials 
have an inflated ego about their own abilities. In reality, 
they are the only ones who think of their own abilities as 
being fantastic. [1] 
No need to pick up on sarcasm 

*Answer needs to show that only the millennials
themselves feel this way. 
*Do not award if no intention is shown, no mention of
author’s perspective or the wrong intention is provided. 
*Do not award if subject is wrong Eg: Teens/youths

3. Explain the author’s use of the word “even” in line 9. [2]
From the passage Suggested answer

Each country's millennials 
are different, but because of 
globalisation, social media, 
the exporting of Western 
culture and the speed of 
change, millennials 
worldwide are more similar to 
one another than to older 
generations within their 
nations. Even in China, a 
generation as overconfident 
and self-involved as the 
Western one has been 
created. (Lines 7 – 10) 

The author uses the word "even" to highlight the  
a) pervasiveness/inevitability of the selfishness/extreme pride among the millennials
to the point that 
b) a conservative and conventional country such as China that prides itself in upholding
traditional norms 
c) also faces a similar ailment among its own millennials.
OR 
He wants to emphasise 
a) how influential the forces of change are in influencing the millennials (answer as a
whole need to mention the subject of millennials) 
b) such that China, which is a country that is not only conservative but traditionally
very resistant to Western culture has also managed to produce a generation 
c) that shares the same traits as those of their Western counterparts

a = 1m  
b + c with a attempted but wrong = 1m 
no a = 0m  
a + b + c = 2m 
*Characteristics of the millennials must be present in pt aof the millennials
*Forces of change – accept listing but DO NOT accept if only ONE tool is mentioned
*Do not award if intention is incorrect. Attempted intention refers to either the tools of
change or the character of the millennials. Eg: the huge influence of globalisation OR 
How pervasive the character of millennials are 
*Do not award if answer for (a) is vague. Eg: the author wants to show the extent/how
far…. These answers are neutral hence vague 

whole need to mentionnnnn tht e subject of millennials) 
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4. According to paragraph 3, why are the millennials “stunted” (line 16) in their growth? Use your own words
as far as possible. [2]

From the passage Suggested answer 
a) Now that smartphones allow millennials to
socialise at every hour – an average of 88 texts 
are sent a day – they are living under the 
constant influence of their friends. Never 
before in history have people been able to grow 
up and reach the early twenties so dominated 
by peers.  
b) To develop intellectually, an individual has to
relate to older people and older things. It is no 
wonder that millennials are stunted. (Lines 12 – 
16) 

They are stunted in their growth as a person because 
a) smartphones/mobile devices (necessary context) have
ensured that they only always interact with / are highly 
shaped/moulded by people their own age [1] 

NOTE: allow paraphrase of dominated as influence and 
vice versa. 
*Allow lifting of smartphones, no context = 0m
*Accept as long as smartphones are mentioned anywhere
in the answer 
*Award as long as extent is shown in capturing either,
“every hour”, “never before”, or “so dominated” 
**Do not accept technology/electronic device/internet 
*Accept communications device/communicating 
online/social media apps or sites 

b) and they are not communicating/learning from
people who are older and ideas/values/items from the 
past/memorabilia/historic items/artefacts. [1] 

*BOD adults for older people
*Do not accept history/past issues

5. What does the phrase “perceived immaturity” (line 17) suggest about the millennials? [1]
From the passage Suggested answer 

In spite of their perceived immaturity, this is the 
most threatening and exciting generation not 
because they are trying to take over the 
Establishment, but because they are growing up 
without one. (Lines 17 – 19) 

The millennials may appear to be juvenile but they are
not. 

OR 

The millennials are not as childish as they seem 

*Do not accept repeat of the words in the question as that
doesn’t explain anything 
*Do not accept: childlike/naïve/inexperienced
*Do not accept a positive paraphrase of perceived
immaturity. Eg: The millennials are actually very mature/ 
mentally developed/ adult-like

6. Using your own words as far as possible, what are the distinctions between the millennials and the “baby
boomers” mentioned in lines 19 to 22? [2]

From the passage Suggested answer
a) While the Industrial Revolution has
made baby boomers powerful – they 
could move to a city, start a business, 
and form organisations, 
b) the Information Revolution has further 
empowered millennials by handing them 
the technology to compete against huge 
organisations: hackers versus 
corporations, bloggers versus 
newspapers, YouTubers versus studios. 
(Lines 19 – 22) 

a) The Industrial Revolution [context needed] has made baby boomers 
mobile, entrepreneurial and start/create groups/establishments [1m] 
b) whereas the Information Revolution [context needed] has allowed the 
millennials to contend with colossal/giant/large organisations [1m] 
*Accept if students group “start a business and form organisations” 
OR 
a) The Industrial Revolution [context needed] has enabled baby boomers
b) but the Information Revolution [context needed] has emboldened the
millennials even more/ greatly enabled the millennials 

*degree must be conveyed for the word "huge" in pt b
** Examples in italics need not be paraphrased but do not penalise if 
students paraphrased them  
***Contrast needed for full 2m 
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7. Explain the irony in the first line of paragraph 5. [1]
From the passage Suggested answer 

Millennials are interacting all 
day but almost entirely 
through a screen. (Line 23) 

Expected:  
a) By saying that the millennials are interacting all day, it is expected that
they are out socialising with actual people  
Actual:  
b) However, all they are doing is actually just sending messages over a
device instead of having face-to-face interactions  
OR 
a) It is ironic that the millennials’ idea of interacting is no longer about face-
to-face socialising/conversations  
b) but simple sending of text messages through the phone/ through
connecting over the internet while they are isolated from each other 

*a) needs to show face-to-face/ physical interaction 
b) needs to show on screen
** No Irony = 0m 
*Award even if answer has no subject mentioned
*Accept “directly” for FTF
*Do NOT accept “live” for FTF
*Do not award if subject is different, i.e. people vs millennials
*Do not award if answer presented as inverted commas (refer to google doc
for eg) 

8. Explain how the author justifies the use of the word “apathetic” (line 29) to describe the millennials. Use your
own words as far as possible [2]

From the passage Suggested answer 
Millennials are apathetic:  
a) they have less civic
engagement and  
b) lower political participation
than any previous group. (Lines 
28 – 29) 

*Focus of this question is to test
that the students are able to 
understand the purpose of the 
colon and so answers should only 
come from the portion that follows 
the colon. 

**Ignore answers that come from 
elsewhere 

He does so by saying that the millennials  
a) do not really bother to make a difference to their societies [1m]
b) and are less involved in politics/ care less about what the
government is doing than the generations before [1m] 

OR 
He highlights how the millennials/they are not as involved in 
a) social and [1m]
b) political issues compared to all the generations that came
before/other generations [1m] 

*Do not accept answers of 0% like “do not care/do not bother”
*Accept Least involved in social and political issues
*NOTE: Answer for b needs to reflect the idea that the millennials do the
LEAST among ANY other generations and NOT about comparing them 
to the past 



9. What do you understand by “people are inflating themselves like balloons on Facebook” (lines 34-35)? [1]
From the passage Suggested answer 

According to W. Keith Campbell, a psychology 
professor at the University of Georgia, “People 
are inflating themselves like balloons on 
Facebook. If you do this well enough on 
Instagram, YouTube and Twitter, you can 
become a microcelebrity.”(Lines 33 – 36) 

The millennial's Facebook is filled with posts of a 
mundane or superficial nature in order to make it 
seem like they lead interesting or busy lives. 

OR 

The attention the millennials shower on themselves on 
social media is self-aggrandising. 

OR 

The millennials are boasting about their lives on 
Facebook 

*Can lift Facebook
**Necessary subject = the millennials (BOD people) 
Necessary context = Facebook/social media 
***No context = 0m 
*Accept any answer that shows that millennials are trying
to make themselves look good 

10. Explain what the author means by “a generation’s greatness should not be undermined by their shortcomings”
(lines 37-38). [2]

From the passage Suggested answer 
While it may be easy to write the millennials off, 
a generation's greatness should not be 
undermined by their shortcomings, but 
determined by how they react to the challenges 
that befall them. (Lines 37 – 38) 

a) The millennials' achievements/successes [1m]
b) should not be weakened/destroyed/marred/
limited(BOD) as a result of their flaws/mistakes.[1m] 

*Necessary subject = Millennials, no subject = 0m
**Degree of greatness needed 

12. Explain what the author means by “they will, for better or worse, inherit the earth” (line 74). [2]
From the passage Suggested answer 

We are in the middle of a changing of the 
guard...They will,  
a1) for better  
a2) or worse,  
b) inherit the earth
(Line 74) 

The author means that  
a) no matter how good or bad the millennials
are/become [1] 
b) they are the ones who will become the
guardians/custodians of the world [1] 
OR 
b) the world will eventually belong to them [1]

*Answer in a needs to show the idea of having no choice
of the outcome 
*Do not accept words with negative connotations for
"inherit" 
*Pt a should refer to the characteristics of the millennials 
and not their actions or what happens to the earth 
*Do not accept vague answers or metaphorical answers
**Necessary subject: The millennials, no subject = 0m 
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11. Using material from paragraphs 8-11(lines 44-71), summarise that the author has to say about the
characteristics of millennials and how they would be advantaged in their careers.
Write your summary in no more than 120 words, not counting the opening words which are printed below.
Use your own words as far as possible. [8]

One characteristic of the millennials is… 
From the passage Suggested answer

A They are technologically adept, (line 42) proficient/skilful/good/well-versed/very knowledgeable/ 
vast knowledge of at using technology 

*Do not accept knowledgeable/ have knowledge
B technologically precocious, (line 42) from a very young age 
C growing up with a rattle in one hand and a 

computer mouse in the other (line 42-43) 
because they have been exposed to technology from 
birth/young 

D They may have the least seniority but claimed the 
most authority when it came to technical support 
(line 43-44) 

This makes them technological experts despite being the 
most junior/youngest  

*Point should indicate it is about technical support/technology
E They welcome change (line 44) They look forward to new experiences/embrace 

spontaneity  

*Do not accept answers that are negative (do not mind)
*Do not accept evolution for change

F by nature well-suited for the unpredictable 
workplace of the future (line 45) 

so they are inherently/fundamentally/ innately equipped for 
the ever-changing/ volatile workplace of the future 

*Context of workplace/jobs/career must be present
G They do not know enough to be prudent, (line 45) They are without adequate understanding to be wise,

*Do not accept answers that are conclusions drawn. Eg: too
hasty/ rash 

H and therefore attempt the impossible (line 46) they thus try the unfathomable 

*G and H are a set
I They have less baggage (they get married later, and 

have children even later in life) and can therefore 
afford to take risks. (line 46-47) 

With less commitments, they are able to take chances 
OR 
As they settle down later, they form families at an older age,
they are able to take chances. 

J They think differently, (line 48) They are creative / they have dissimilar mindsets / 
alternative approaches 

K1 unencumbered by years of education and 
experience (line 48)

Award only if point J is present 

As they are not burdened / hindered/ unhampered by years 
of education and experience 

Context of education and experience is needed for K1 & K2 
K2 which were once necessary to succeed, but are now 

increasingly seen as irrelevant, even a liability.
(line 48 -49) 
Award only if point J is present

as it is more unnecessary today /presently appears to be 
even more outdated 

Context of education and experience is needed for K1 & K2 
L For a company to think outside the box, why not 

learn by working with people who do not know 
there is a box? (line 50 -51) 

For companies that want to be innovative, creative 
millennials are sought after.  
OR 
The millennials’ creative minds have aided companies 
which need to innovate. 

M They are independent. (line 52) They are self-directed / do not follow others / strike out on 
their own / work well on their own/ self-sufficient/ self-
reliant/ not reliant on others 

*Do not accept negation i.e. not dependent
**Do not accept limited context of friends/family for do not 
rely/do not follow

N One of the most pervasive business trends of the 
past decade has been the rise of the free agent, 
caused both by the breakdown of the social 
contract between companies and employees, 

(inferred) 
Idea should reflect the understanding of free agent which is 
about free-lancing/ being your own boss or outsourcing 
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and by the growing share in the workforce of 
knowledge workers with portable skills. (line 50-
52) 

along with being a jack-of-all-trades or having multiple 
talents 

O The millennials came of age as that social contract
was dissolving. (line 54-55)  

Award only if point P is present 

The millennials have matured in the time in which the social 
contract was disintegrating / becoming irrelevant 

P They have never expected loyalty from a 
company, nor have they expected to give it. (line 
55-56)

They do not ever demand fidelity from firms, nor feel
required to dispense it. 

Q They define themselves by their skills, not the firm 
they work for. (line 56-57)

Their identity is based on their abilities / capabilities, no 
the companies that employ them. 

R The overwhelming majority of graduates see their 
career at graduation not as a straight line of 
advancement in one company but as a zigzag 
path from company to company, job to job, skill 
to skill. (line 57-58) 

The bulk of millennials do not stick to one job company 
and wait for promotion, they job hop as a means of 
climbing up the ladder.  

*Accept “multi-directional job progression”
S They are entrepreneurial (line 59) 

or 
it is no surprise that more have been striking out 
on their own. (line 60) 

They set up/start their own businesses 

*Accept business-minded / business-oriented / business
driven/enterprising

T With a booming economy, capital for the taking and 
an unprecedented technological opportunity (lines 
59 - 60) 

Award only if point S is present 

With a rising economy, funds to finance their businesses, 
and uncharted levels of technological possibilities/wonders

U This is not just the bravado of callow youth: (line 
61) 

Not only do they have the arrogance / swagger / boldness / 
foolhardiness of inexperience / immaturity  

V by the time they enter university, most teenagers 
already know far more about the business world 
than their parents ever did. (line 65-66) 

they are very much aware / very well aware/ have extensive
experience of the ways of doing 
commerce/entrepreneurship/ economy 

*Do not accept economics
W The signs of this business precociousness are 

everywhere (line 61 - 62) 
It is common/ the norm/ Generally, the millennials are 
proficient beyond their years / prodigious in business.  

X Now they run on-campus Incubators (line 64) 

Award only if point Y is present 

Today, tertiary institutions / colleges provide spaces / 
manage / organise start-ups / Incubators. 

Y for the shrinking number of students that have 
postponed entrepreneurship long enough to go 
to college at all. (line 65-66) 

A larger number of students start businesses rather than 
pursue formal education  
OR 
(inferred)
Students are increasingly prioritising their economic / 
business ambitions rather than educational ones.  

No of Points Marks 
1 – 2 1 
3 – 4 2 
5 – 6 3 
7 – 8 4 

9 5
10 – 11 6 
12 – 13 7 

 14 8 



13.Joel Stein makes observations about the millennial’s best and worst traits. How far would you agree with his observations,
relating your arguments to your own experience and that of your society? [10]

Marks Description 
1 – 2 Award 1m 

 No proper argument quoted i.e. free-writing or simply repeating of question 
 Incomplete arguments with only a quote and/or a stand 
 Point picked is not an argument at all 

Award 2m 
 Mostly restatement without any reference to Sg Society 
 No opinions and is simply a paraphrase/ description of the author’s opinion instead 

3 – 4 Award 3m 
 Some misunderstanding of the author’s point or point not discussed in the correct context but 

evaluation and explanation is acceptable 
 AND/OR evaluation is barely considered and is mostly just a description or repetition of what the 

author is saying (echoing author’s point without own opinion) 
 Overall argument is completely illogical/incoherent/irrelevant (high level of misunderstanding) 

Award 4m 
 Correct argument picked but not properly explained or developed 
 Evaluation present but mostly general observations or personal examples 
 Some name-dropping attempted but not entirely accurate  
 Tends to have logical flaws or gaps in reasoning even though overall opinion makes sense 

5 – 6 Award 5m 
 Evaluation includes proper examples 
 Some attempts at proper development of argument though not entirely perfect 
 Some minor misunderstanding but does not affect argument and reasoning much 
 Few gaps in reasoning 
 Balance attempted but may not be successful 

Award 6m 
 No misreading or misunderstanding of point 
 Evaluation is good and supported by substantial examples or apt observations 
 Balance provided but not perfect 

7 – 8 Award 7m 
 More than 1 6m argument provided 
 Balance is provided and achieved 

Award 8m 
 At least 3 properly developed and evaluated arguments provided with balance included 
 OR 2 properly developed and evaluated arguments that are well supported and one slightly 

weaker argument this is inclusive of balance 
 Examples in this band must be real examples and not simply apt observations or personal 

experience 
 There is limited gaps in reasoning or no gaps in reasoning at all, allowing for a cogent and 

coherent argument 
9 – 10 Award 9m 

 Complete AQ with at least 3 arguments and introduction and conclusion provided though intro 
and conclusion need not be good 

 Real examples used with no gaps in reasoning 
 Coherent and cogent arguments with constant reference to points from the passage 
 Sg society characteristics properly considered and used to further the argument made 

Award 10m 
 Highly convincing piece that shows understanding of the author’s arguments and proper 

consideration of what these arguments might entail for the Singapore society 
 Apt examples that are wide ranging together with Singapore characteristics to support evaluation 

that is convincing 
 Balance is achieved seamlessly and there is an overall coherence to the piece 
 Introduction and conclusion shows proper insight and understanding 

eteee AQAQAQAQ wwwwwithhhhh at llllleaeaeaeaeast 33333 aaaaargrgrgrggumuumumu eeents and introducucuucuctitititionononon aaaandndndndndn cccccon
oncccluuuuusssiss oooonoo  neeeeed nonononnonot t t t t bbbebb gggggooooooooo ddddd
xammmmplllleseseseses useseed wiwwiwiw ththth nnnnno o oo o gagagaggapsssss iiiiinnnn rrererreassssononononononninnnnggggggggggggggg
ent t tt anaanand cocococogegegeeentntntntnt argumumumumumenenenenntststtststtss wwwwwith hhh cocococococooonsnsnsnsn tant r fefererererrrenenenenencececeee ttttto o o popopopopoininininints f
cietty y y yyy chchchchharararararacacacacacteteteteteririristststststicicicicicssss prprprprpropopopopoperererererrlylyyy cccccononononononsssssidididididerererererred andndndndndn uuuuuusses dddddd tototototot fffffurther t



Language marks 

12m
Good vocab, very clean, few grammar mistakes, no basic grammar mistakes like (sp, t, sv), includes 
signal markers in AQ and summary.  

11m
Good vocab i.e. answers are often rather similar to answer key, same as 12 but not much use of signal 
markers 

10m Same as 11 but makes some basic grammar errors though asnwers can still be understood 

To get 10m and above. student should not have lifted anything maybe just 1 lift 

9m Average - range of mistakes but expression is laregly clear, some lifts in summary 

8m Some unclear expressions, greater number of basic errors (T, SV, SP) lifting in summary and SAQ 

7m Answer requires re-reading even in AQ portion, errors of many types esp EXP, WW, SS 
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